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Answer ALL the questions.
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Items 1 to 20 are stems followed by four options lettered A to D, Read each item carefully and
aption.

_-_',! N B
Find the domain of

‘ector function r(t) = {In(4 —t).t + 1, Vo).

B. (0, 0 1)
c. (0,1,0) '
D. {0,=1; =1) 1 | s
3. Determine for whntvalur:s n[‘r the vec ui:nlucd function
r(t) =/e* ln(t—lj.sint}u:unun
@/N 1) |
\ B/{-*M.—l}
8\ C. (-1,)
D. (1,%)
4. Find the dpfivative of the veclor function r(t) = (4, e¥, cos(4t)).
— 4sin(4t)}
(3, 2%, —4 sin(4t))
\& (4t3,2¢% 4sin(4t)) 3
'D. L (483, 2¢° 45!11{4:)}
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t=1k)dt.

S Evaluge ghe indefinite integral [(cost !+ E‘f" i
A sintl+6t) +k+c Vi
B s|nri+6:j—r?k+c/ —— iy
@ 5|ntf+f3j+|ﬂtk+c J u e
D. —sintl+3t3+Intk+c t 7
: | B

Evaluate [ (467, cose)dt.
@ {l,ﬂ} / \

B. ¢(p,1,)
C" {“r 1}
D. (m,0)

7 Find the tangent vecior to the curve given by r(¢) = 2t {+ F”f*“" ‘J+ Int k.
A, :I+EZ+SEC1 E] E1r+unt)|+ 2 k L -
B. II+E2“““I+ t k
C. 20+ (2+cosec?t)e®™ ™ tj+ 2t k
204 (2 +sec?t)e U4 "1k
8. Find the unit tangent vector to the curve given by r(t) = sin(2t) J + cos(2t) k.
A. 2sin(2t)J— 2cos(2t) k
@ cos (2t) ) —sin(2c) k
C. ZIsin(26)f — Scos(2 )k
D.

I
‘|
1 1 i
;cos(2t)f — 2sin(2) k |

9. Determine the arc length for the {:l,n‘ygf{t%: { 2¢cosr 2sint) on the jlgmal 0<t <2

Al 24m .
B. 12nm [ﬁ{;ﬁ&' (— lul-
C. 4n A r"“ ¢ 3 (LAt

@ 4t

B. 6t
C. 8t
D. 12t

(t) = 4J, find the curvature of r(t)-

- —

11. Giventhatr'(t) =t 1+ 2k and 7' (t) X r'
A (F+ 4)53 P
B. 4(t*+ 4)53 .
C. (t%+ 4)‘5: \
O 4?+42

i i ition of an object moving in the
i acceleration vector if the position 0
12. Find the i sy

xy —plane is giv
A. (2t,2e%) /
® (2,4e*)

1 2t
C. {%rj.gﬁ' )

D. (et5e™)
§ Fage 2 of 4
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I3. Find the directional derivative p s 43
i H . X, . = 4
is the unit veetor given by the un“g{r.-{ i) 1}::,\‘{: bl

A 4% +3y2
| B. 4 - 5 o
X
1 @D' —4x? — 3y2 {"IJD\ (‘OKL{—J
[6-3) 4 (y-13

{4. Find the directional desivative D, f(x, y) for f(x,y) = xy + y?inthe

dirgctinnaﬂflhu eclor from (3,0) to (0 8 Y
L] » . & l_. -1 3
A Ty <c(x+2y) y x (459
&
@l E}"'r ;{x+2y) ) - .

Gy H3x+2Y) |
D. 3y +4(x+ 2y) -7

15. Fm& ?f(x, f(x.y‘) = yxe¥,
& “xe”}
~"{xe¥,e”)

C, {x.e’}
D. {e¥,x +e¥) '
16. If f(x.y.2) = z cos(yx), find the gradient of f.
A. {sin(yx 7 cos(yx), xy cos(yx))
%), — xz cos(yx) ,—xy cos x))
zysin(yx), — X2 sin(yx) ,cos(yx) )
},,_ms{y'r'} - s Aot B S

¢ following information to answer questions 17 to 19.

Use th
Let f(x,¥)= sin(xy). §eat™) P Lt
(o,

| |
|
' 18. Find the maximum rate.of change of f %'l the point (1,0). " L |
|
‘I |
| the maxim-.l:'m rate of change of f atthe point
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* l\- ,2) in the direction of v,
20. Find the rate of change of [ = y? —4x Jl at P(1,2) >
5 12 =
the vector u = {5, 33} o
A. 3/13 y
B. 17/13 . | :
Q 1721 |
— 11 ]
T @t |

— .
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